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¥ %Y a
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% 100.0 29.0 70.3 0.8
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3 % 100.0 24.3 75.7 0.0
- 100.0 22.9 75.9 1.2

R 100.0 25.9 74.1 0.0
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B¢ (B 100.0 26.8 73.2 0.0 v*=33.162
i 100.0 28.9 71.1 0.0 | p-value=0.001
3 100.0 27.0 72.6 0.4
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[ 100.0 24.6 74.6 0.8
BRXB/1F LEHFTX 100.0 20.6 78.1 1.3
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K A 10.5 14.4 3.3 14.5 59.8
¥ % o
¢ % 35 71 35 273 586
L% 5.8 172 24 150 610
5 % 72 10.4 23 27 625
% 75 12.0 904 141 605
T 8.8 13.9 3.8 118 645
5 bR 4.0 18.7 13 109 659
34 % 8.7 152 904 213 464
M E 10.1 20.3 3.1 14.9 554
T x 09 211 1.9 116 592
L2 14.1 12.8 2.7 120 612
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L0 18.8 123 3.2 106 598
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T 4.2 0.4 0.0 62.0 33.8
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FTAE T 11.8 0.0 0.0 54.4 33.8
Ak F 4.9 1.8 0.9 54.1 41.0
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hH 4.7 4.7 4.7 65.6 25.1
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AW F 0.0 0.0 0.0 48.2 51.8
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wt 100.0 66.3 33.4 0.3
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dF 100.0 76.9 23.1 0.0

L% 100.0 72.2 27.8 0.0
7 R 100.0 75.9 23.2 0.9

3 F 100.0 67.3 30.1 2.5
R 100.0 68.2 31.1 0.8
g 100.0 60.8 39.2 0.0

g% E 100.0 75.9 24.1 0.0
A E 100.0 71.2 28.5 0.3
o 100.0 69.6 29.8 0.6

L% 100.0 61.7 38.3 0.0

ATy 100.0 63.6 36.4 0.0

LU 100.0 65.8 34.2 0.0
fo T % 100.0 77.6 22.4 0.0
Fokw 100.0 59.9 40.1 0.0 ¥’=51.341
B 100.0 61.4 38.6 0.0 | p-value=0.652
VR e 100.0 61.1 38.9 0.0

L% 100.0 61.1 38.9 0.0
3L F 100.0 77.2 22.8 0.0
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At 100.0 66.3 33.4 0.3
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20-24 # 100.0 66.0 34.0 0.0
25-34 # 100.0 64.0 35.5 0.5
35-44 100.0 71.9 28.1 0.0 ¥°=46.790
45-54 100.0 72.4 27.4 0.2 | p-value=0.000
55-64 100.0 67.7 31.9 0.4
65 #& 11+ 100.0 50.1 49.2 0.6
EE 100.0 75.3 24.7 0.0
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B & T 100.0 40.7 58.3 0.9
B (5) " 100.0 67.0 33.0 0.0
B¢ () 100.0 73.0 26.8 0.1 ¥°=88.396
N 100.0 67.6 31.6 0.8 | p-value=0.000
L 100.0 68.1 31.8 0.1
FAG TR LY 100.0 72.9 27.1 0.0
;o E 100.0 61.3 38.7 0.0
v AR 100.0 68.0 31.1 1.0
[y 100.0 63.7 36.3 0.0
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&t 100.0 58.1 41.6 0.3
¥ Y a
¢ % 100.0 89.4 10.6 0.0
LN 100.0 69.6 30.4 0.0

100.0 70.7 26.0 3.3
100.0 66.6 334 0.0
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i G U i

¥ 100.0 50.6 494 00
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S 100.0 61.9 381 00
® R 100.0 60.0 394 06
I 100.0 55.0 450 00
T 100.0 58.9 411 00
s 100.0 55.4 446 00
fo I 100.0 57.0 430 00
oK 100.0 55.1 449 00 )
é B 100.0 59.2 40.8 00 | X=102.160
SR 100.0 44.9 550 0o | Pvalue=0.000
LEE 100.0 40.1 50.9 0.0
SR T 100.0 72.0 280 0.0
W R 100.0 53.9 461 00
« T 100.0 42.0 580 0.0
A 100.0 66.3 337 00
22 % 100.0 61.6 384 0.0
W% 100.0 39.7 603 0.0
T 100.0 76.3 237 00
L F T 100.0 37.4 626 0.0
R 100.0 51.4 486 00
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'H-‘Q] a 2
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srladom I RECER W E 52 et FAZIE 25% 0 Bk R AL W @ o
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a3t 100.0 58.1 41.6 0.3
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20-24 # 100.0 58.0 42.0 0.0
25-34 # 100.0 52.9 47.1 0.0
35-44 # 100.0 62.8 37.2 0.0 ¥’=71.125
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o R 100.0 76.3 23.7 0.0
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p-value=0.923
L} 100.0 87.4 12.0 0.6
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BRER/IFAERTX 100.0 88.7 9.8 1.6
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w3t 100.0 83.0 42.1 40.9 1.4 13.7 10.9 2.8 2.0
¥ %Y a
¢ % 100.0 85.6 53.4 32.2 0.0 10.9 10.9 0.0 35
L% 100.0 92.1 38.253.9 0.0 4.6 23 2.3 3.4
7% 100.0 92.9 51.8 41.1 0.0 6.0 50 1.0 1.1
5 100.0 88.4 41.2 472 1.0 65 59 0.6 4.0
 F 100.0 87.5 40.6 46.9 0.0 85 6.6 1.9 4.0
S 100.0 88.0 40.5 47.5 0.0 10.7 10.7 0.0 1.3
34 F 100.0 93.0 41.5 51.5 0.0 47 3.7 1.0 2.4
A 100.0 89.8 55.0 34.8 0.8 7.2 56 1.6 2.3
K 100.0 82.3 37.8 445 3.0 14.0 11.4 2.6 0.8
12 % 100.0 84.0 55.2 28.8 0.0 14.8 13.7 1.1 1.3
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k' 100.0 81.4 35.3 46.1 0.9 14.2 10.6 3.6 3.5
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s 100.0 72.5 36.9 35.6 8.5 19.0 135 5.5 0.0
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